{

N

/.

Y

N

X

>

7/

(6er-)
0

30

VERICLE GATE

AAAXAAAAANAN

CLEARVU VEHICLE GATE:

\ P

o JAARARARARRARARNARRRARRARAARARARRARRARAARARRNARNARNAARNRK

76mm X 76mm SQUARE TUBE
GATE FRAME, WITH MESH TO
MATCH FENCE LINE

76mm SQUARE TUBE LOCK POST
76mm SQUARE TUBE PORTAL
@16 T-SLIDE LOCK, WITH LOCK
BOX LOCKING DEVICE

COCHRANE SHARK TOOTH SPIKE:

2mm THICK TOUGHENED STEEL
100mm HIGH TOPPING

60 x 60mm POSTS BOLTED TO BRICK
PIER

76 x 76mm GATE FRAMEWORK

75mm THICK RAMPED CONCRETE
SURFACE BED AT THE GATE
ENTRANCE AS SHOWN ON PLAN

<

A
K

e
IR
%

QNN

an
>N
[N

VEHICLE GATE DETAIL - 1

SCALE 1:20

N
N
X
N
N

S
X2
N
&
N

X

NNE
NN NN N NN NN
R

L————— e  ——

/

~—

_————_L
T

|
L
/

i

A

GATE HINGE DETAIL 3

SCALE 1:2

-_________________';I_l—

76MM SQUARE TUBE GATE FRAME

BRICK PIER:
340 x 340mm CONCRETE FILLED
BRICK PIER

25mm x 80mm LONG PIN TYPE HEAVY
DUTY HINGE WELDED TO 60 x 60mm
MILD STEEL GATE POST BOLTED TO
BRICK PIER

DOME FORMED ANTI-VANDAL BOLTS
AND FASTENED WITH SHEAR OFF NUTS

60 x 60mm GMS POST BOLTED TO WALL

—-— 2 x 76 x 76mm HORIZONTAL SQUARE
TUBE FRAME
N\
— 76 X 76 X 2mm SQUARE GATE FRAME
<Y

25 x 80mm LONG PIN TYPE HEAVY DUTY

HINGE WELDED TO 60 x 60mm GMS
GATE POST AND GATE FRAMEWORK

DOME FORMED ANTI-VANDAL BOLTS
AND FASTENED WITH SHEAR OFF
NUTS

60 x 60MM MILD STEEL POST BOLTED
TO BRICK PIER

GATE HINGE DETAIL 4

SCALE 1:2

340 x 340MM CONCRETE FILLED
BRICK PIER

60x60x6mm MILD STEEL PLATE
WITH 13mm HOLE IN CENTRE FIXED

WITH 2x8mm EXPANSION BOLTS DRILLED
INTO CONCRETE TO RECEIVE BARREL BOLTS

REINFORCED CONCRETE FOUNDATION
TO ENG'S DETAILS TO SUIT THE
SPECIFIC SITE CONDITION

340 x 340mm CONCRETE FILLED BRICK PIER

RE-REINFORCED CONCRETE IN-FILL

CLEARVU PEDESTRIAN GATE:

- 101mm X 3mm SQUARE TUBE HINGE POST
76mm X 2mm SQUARE TUBE LOCKING POST
76mm X 2mm SQUARE TUBE GATE FRAME
HINGE TO HAVE ADJUSTABLE SCREW (424.1)

COVER PLATE TO HAVE 270mm X 50mm X 5mm (CODE -

CP2014-00-01)

MESH TO MATCH FENCE LINE

COCHRANE SHARK TOOTH SPIKE: 2mm THICK
TOUGHENED STEEL 100mm HIGH TOPPING

GATE LOCK

\

I [ [ [ I I a
300 x 150mm PRECAST % % z\
CONCRETE KERB /

\ z T ., 4

125mm NYLON CASTOR, 125x40mm WHEEL SIZE,

150KG LOAD CAP GATE WHEEL

25mm DIAMETER x 80mm LONG PIN TYPE HINGE
WELDED TO MILD STEEL GATE FRAMEWORK

15mm DIAMETER MILD STEEL PIN

SANANNCAN

PEDESTRIAN GATE DETAIL - 2

SCALE 1:20

INSIDE

- @16 T-SLIDE LOCK, WITH LOCK BOX
- (CODE - C-05-004-05-01-02-01-00)

PAVING:

2 COURSE 110 x 110 x 75mm THICK DOUBLE

COBBLE BRICK PAVING BAND AS INDICATED
NON-SLIP BRICK PAVERS ON WELL COMPACTED FILL

REINFORCED CONCRETE FOUNDATION
TO ENG'S DETAILS TO SUIT THE
SPECIFIC SITE CONDITION

~+—BRICK PIER:

SECTION G-G

SCALE 1:10

25mm DIAMETER x 80mm LONG PIN TYPE HINGE

WELDED TO MILD STEEL POST

GATE HINGE ASSEMBLY

SCALE 1:2

BRICK

PIER:

330 x 330MM CONCRETE FILLED BRICK PIER

BRICK

CLEARVU FENCE:

ON EDGE WALL COPING

76MM X 76MM SQUARE TUBE FRAME
WITH MESH TO MATCH
FENCE LINE

BRICK PIER:

AAXAAAAAXAARAN

330 x 330mm CONCRETE FILLED BRICK PIER

CLEARVU FENCE:

76 x 76mm SQUARE TUBE FRAME WITH
MESH TO MATCH
FENCE LINE

2 x 76 x 76mm HORIZONTAL SQUARE TUBE

(1]

PLASTER
& PAINT

CONCRETE SEAT:

75mm THICK PRECAST CONCRETE SEATING TO
BE BUILT INTO BRICKWORK. SEAT EDGE TO BE
FINISHED WITH A CHAMFERED 15 x 15mm EDGE
STEEL TROLLED TO A SMOOTH POLISHED FINISH.

PAVING:

tiz 224

NMTH N A A A A A

2 COURSE 110 x 110 x 75mm THICK DOUBLE
COBBLE BRICK PAVING BAND AS INDICATED \
NON-SLIP BRICK PAVERS ON WELL COMPACTED: \Il\

REINFORCED CONCRETE FOUNDATION

TNZLZA
S

a4

N
RS

//

TO ENG'S DETAILS TO SUIT THE
SPECIFIC SITE CONDITION

DETAIL SECTION B-B

SCALE 1:20

OUTSIDE

1135mm FROM BOTTOM

K b

M8x30x1.25x4.4
CUP SQ BOLT WITH
SHEAR NUT

LOCKING DEVICE DETAIL

NO. DATE REVISION DRAWN
A 2017-02-10 | ISSUED FOR MEASURE SG
B 2017-02-16 | ISSUED FOR INFORMATION SG
c 2017-02-27 | ISSUED FOR CO-ORDINATION SG
D 2017-06-22 | ISSUED FOR INFORMATION RJS
E 2021-03-01 | ISSUED FOR INFORMATION bDw
1. VARIOUS AND GENERAL NOTE UPDATES RJS
F 2022-04-13 ISSUED FOR INFORMATION (EFMS) bDw
1. DWG NO. CHANGED FROM 1617 TO 2204
AA | 2022-07-15 ISSUED FOR MEASURE Dw
KEY

340 x 340MM CONCRETE

PSP

b.a FILLED BRICK PIER
L

13 Cumberland Street, Mthatha
P.O. Box 7180
Mthatha, 5100
Tel: 047-532-5382
Fax: 086-648-2131

ARCHITECT
18 Louw Geldenhuys Drive,

Emmarentia, Johannesl burg

P.O. Box 91924
- mnan e - Auckland Park, 2006
Tel: 011-486-2623

consultants Fax: 086-648-1935

architects & project managers Email: mpande:

archiden.co.za

ARCHITECTURAL PROFESSIONAL SACAP NUMBERS:

H.L. MANTEL SACAP 3045

IMPLEMENTED BY

INDEPENDENT
DEVELOPMENT
TRUST
SIGNATURE paTe | TS EA 1
DDDDDDDD 1 : 1 00
DRAWN se | o207 STATUS LEGEND
| = INFORMATION
FM = FOR MEASURE
........ . - T = TENDER
C = CONSTRUCTION
VVVVVVV AB = AS BUILT
CO = CO-ORDINATION
CLIENT IMPLEMENTING
AGENT
; f/Province of the t’
»* EASTERN CAPE ld

2/ EDUCATION

PROJECT

DOE PORTFOLIO PROGRAMME
ESTABLISHMENT OF NEW SCHOOLS

HILLBROW - SENIOR SECONDARY SCHOOL
PROVINCE: EASTERN CAPE PROVINCE

DRAWING TITLE

GATE AND FENCE DETAILS

DRAWING DESCRIPTION

EEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEE

200500293 |ARCH 2204 FA| AA

w03 04/201



AutoCAD SHX Text
VEHICLE GATE


	Sheets and Views
	w03-04-201


